Estimate and find the median, quartiles and interquartile range for large data sets, including using a cumulative frequency diagram
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Estimate for median of b is 30





Estimate for the upper quartile of b is 80








Interquartile range of b is 20





The point (60,50) lies on the cumulative frequency graph





An estimate for the lower quartile of b is 30





Number of data less than 80 is about 70





The median of b is between 40 and 60





Interquartile range of a is greater than that of b





Number of data greater than 40 is about 80
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